



























[bookmark: _GoBack][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ]


ANSWER KEY[image: ]
[image: ]





















[image: ][image: ]





















[image: ]





















[image: ]
[image: ]





















[image: ]
[image: ]





















image4.wmf
69


oleObject4.bin

image5.wmf
15


oleObject5.bin

image6.wmf
3


oleObject6.bin

image7.wmf
52


oleObject7.bin

image8.wmf
98


oleObject8.bin

image9.wmf
10


oleObject9.bin

image10.wmf
9


oleObject10.bin

image11.wmf
13


oleObject11.bin

image12.wmf
2


oleObject12.bin

image13.wmf
16


oleObject13.bin

image14.wmf
63


oleObject14.bin

image15.wmf
6


oleObject15.bin

image16.wmf
1


oleObject16.bin

image17.wmf
9


oleObject17.bin

image18.wmf
36


oleObject18.bin

image1.wmf
76


image19.wmf
7


oleObject19.bin

image20.wmf
48


oleObject20.bin

image21.wmf
40


oleObject21.bin

image22.wmf
13

5

m

=


oleObject22.bin

image23.png
7y =21




image24.wmf
9135

x

=


oleObject1.bin

oleObject23.bin

image25.wmf
14

7

y

=


oleObject24.bin

image26.wmf
1.238.77

n

-=


oleObject25.bin

image27.wmf
1264

y

+=


oleObject26.bin

image28.wmf
2841

d

-=


oleObject27.bin

image29.wmf
4672

x

+=


image2.wmf
2


oleObject28.bin

image30.wmf
7

9

n

=


image31.wmf
3

3

x

=


image32.png




image33.png




image34.png
x-T=42




image35.png




image36.png
2d=18




image37.png




image38.png
' ox=135["3 | 2y-n %:13
26 15 52 2
wes6=2 | 69 famxsmsi | 76 |yenmse| o8 | 1=%
36 1 16} 10|
6a=42 7 9 | 57 |2 H;_v::vl
40 6 63 o
sean | T4 | T 8=y-s I3 | ™





oleObject2.bin

image39.png
T a=

7 b=

3 =

H &

5 =

5 =

F

e

D

k=

T

=





image40.png
1) 74=28+v 2) p+16=98
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Station 1: Modeling Equations and
‘Word Problems

Write an equation. then solve:

1.

Togethertwo items cost $16. One item costs$7. What does the
otheritemcost,

A four-person sixth grade relay team ran a race in 48
seconds. What was the average time for each person?]

. A studentearned $150 last week. She worked 10 hours.

How much did she earn per hour?
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Station 2: Adding/Subtracting Equations

_Questions 1-4: Write what step you preform to both sides

1 y-15=25 2. n+18=_
3.50=x-20 4wt 14=
Solve:
5. x+46=72 6. n—105=11.7

5 d-28=41 g m+13=28 _.,
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Station 3: One Step Equations- Multiplying/Dividing

Questions 1-4: Write what step you preform to both sides

n
1.20° 1 2. 25=5k
x
3. 6n=36 475710
Solve:
s, 14=7 o L=2
7 ©o12

7 9y—135 s. 400=8a
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Station 4: Mixed Review of Equations

1. v+34=58
2. 41=j-29

3. 49=h-46

b
4. 9=4

5. 54=6a
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Station 5: Algebra Vocabulary

1)Inthe following equation,rameall
the terms.

2)Tnthe followingnequelity what
couldbe e word todeseribe the 72

3) Which o the ollowingisan
‘expression (more thenone answer)

EES PrEs
9 seasx 92

0 Hea-20 HT66eD

4)Label the differentindicated
perteaf the squationbelon

SO+3k17

) In aninequality what are the five
Gifferent eymbals thet could be
e

6) Considr the following exgression
a+3b

aisalr).

3isalr).

3biselr)
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